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Name: __________________________________



1
What is the value of x in the equation [image: image1.png]


?

	1)
	1

	2)
	7

	3)
	[image: image2.png]




	4)
	4



2
The solution set for the equation [image: image3.png]Jretd - Jaxes =1



 is
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3
Solve:  [image: image8.png]Jax - afx-3 =3
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Solve:  [image: image9.png]Jrrzeafx-3=5
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Solve:  [image: image10.png]




6
Solve:  [image: image11.png]x.
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Solve:  [image: image12.png]
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Solve:  [image: image13.png]Joxa6-faxel = f5x-21
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Solve:  [image: image14.png]Jaxed-fax-2 = fax-23





10
Solve:  [image: image15.png]Jre2 e afx-3 = a1t
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Solve:  [image: image16.png]Jre2 e afx-3

l4x-3
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Solve:  [image: image17.png]IN VN Y
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Solve:  [image: image18.png]




14
Solve:  [image: image19.png]
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Solve:  [image: image20.png]
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Solve:  [image: image21.png]
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Solve:  [image: image22.png]
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Solve:  [image: image23.png]
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